AE-531

B.Com. (Part - III)
Term End Examination, 2016-17

MANAGEMENT ACCOUNTING

Compulsory
Group - II
Paper - 11
Time : Three Hours] [Maximum Marks : 75
qre gt gl & S AW et T F s
e ¥
Note : Answer all questions. All questions carry equal
marks.
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1. Yoyt d@dafy & &3 TS @l s gud
HITSTT |

Describe the scope and functions of Management

Accounting.
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(2)

frafafed gamell 9 ouent snfefer foear
TR T T

EaENI I Cil % 75,000
G99 TH AT ¥ 1,00,000
S Afufaend ¥ 60,000
EIGEEREIN) 1.75: 1
A ST 1.15:1
W HIY ;TR g 0.75

From the following informations you are required
to prepare a Balance Sheet :

Working Capital ¥ 75,000

Reserve and Suplus T 1,00,000

Bank Overdraft T 60,000

Current Ratio 1.75 : 1

Liquid Ratio 1.15:1

Fixed Assets to Prop.fund 0.75
$hT8 / Unit-T1

2. cI')\I‘>| Adle rOIOI{UI T %7 g3 rchH Henl] (:\NII{
fopan T ®2
What is a Funds Flow Statement ? How is it
prepared ?
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Frfafed gaei ¥ Iws yar faerw TR
Elflﬁ'l'q:

3
UHS & YRMAEH W 15,000
ke &1 A<H W 19,000
o Terl H gfg 13,000
STl | 17,000
TR gHraEl B %A 30,000
aifeehil 331 1 INEA 14,000
9 HT AU 18,000

Prepare a Cash Flow Statement from the
following informations :

3
Opening Balance of Cash 15,000
Closing Balance of Cash 19,000
Increase in Creditors 13,000
Decrease in Debtors 17,000
Fixed Assets purchased 30,000
Redemption of Preference Shares 14,000
Profit for the year 18,000
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3. a4 2016 ® 3w fa. &t feafq /=1 g off -
3
fasa 1,20,000
() UReTTeia =9 96,000
" 24,000
TR 3= 16,000
s o 8,000
M IS
() MY AET T4

(b) FHfT=sT foag
(¢) Taha ¥ 1,80,000 & faT@ oy
(d) 16,000 @Y & fau faskt

In 2016 the position of Ansh Ltd. was as

follows :
54
Sales 1,20,000
(=) Variable Expenses 96,000
24,000
Fixed Overhead 16,000

Net Profit 8,000
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Find out :
(a) P/V Ratio
(b)) B. E. P

(¢) Net profit for the sales of ¥ 1,80,000
(d) Sales for net profit of ¥ 16,000
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9 OFd o@rtaty qen  fadec e A
wEfafy § AR FdE |

Explain the difference between Marginal Costing
and Differential Costing.

THTS / Unit-1V

4. 9N F GHI, HE qU AME & SMER W
IR0 hifSTT |
Classify the budgets on the basis of time,
functions and flexibility.
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fFefafad g=q1 & R W 80% T 100%
FEAER F IURT H AEGR 9 TIR
RIS

50% &HdT 9 IcdIe 5000 TRISAT
e 730 9fd T&E
a9 730 Ufd T
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(6)
HREHET I ¥ 40,000 (50% TTRT)

TIMET =9 780,000 (30% ¥™Y)

Prepare a flexible budget for the production of
80% and 100% activity on the basis of following

mformations :
Production at 50% capacity 5000 units
Materials ¥ 30 per unit
Labour ¥ 30 per unit
Factory Expenses ¥ 40,000 (50% Fixed)
Administrative
Expenses ¥ 80,000 (30% Fixed)

TH1S / Unit-V

5. T Wdd GAR & HREH & HEAfaRad
foeont | wE fo=Ron @ UM HifSw

BIEED EiEsiECy
e T el T
(feam) | (ufa feam) | (fe.am.) |(ufa feeam.)
HIW 60 5 80 4.50
ISED 40 10 70 8.00
100 150
Bl 30 35
70 115
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From the following details of a brass foundry
calculate material variances :

Standard Actual
Quantity Rate Quatity Rate
(kg.) (per kg.) (kg.) (per kg.)

Copper 60 5 80 4.50

Zinc 40 10 70 8.00
100 150
Loss 30 35
70 115
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What is Labour Cost Variance ? Explain its
various components alongwith their formula.
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